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Q1 .A man faces towards north. Turning to his right, he walks 25
metes. He then turns to his left and walks 30 metres. Next, he
moves 25 metres to his right. He then turns to his right again and
walks 55 metres. Finally, he turns to the right and moves 40
metres. In which direction is he from his starting point ?

T 3{GH! DT W IR DI AR 8| 3T SRl 3R HSHR, I8 25 Hiex
Iddl g | T ag 310 a1 3R g3 & 3R 30 Hiex Il 8 | 39 dg,
dg 310 G 3R 25 Hiex Iddl ¢ | 98 fhR I 30 qIfenl 3R Sdl @
3R 55 Hiex Il & | 3 H, 98 als AR TSdT 8 3R 40 Hiex I 5 |

dg 3197 33T fog I fp ferm d 82

(1).SOUTH-
WEST

(2)
NORTH-WEST

(3).SOUTH-

EAST
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Q.2 .Aman walks 1 km to east and then he turns to
south and walks 5 km. Again he turns to east and walks
2 km. After this he turns to north and walks 9 km. Now,
how far is he from his starting point?

T 3MTeH! gd &1 3R 1 fHH gaar g ik fhr ag <féu ot
AR YSaT g 3R 5 fpHt gaar g | R T a8 gd &l IR e
831K 2 fobHT =refd & | S8 S1G I8 ITR P 3R Tl

3R 9 [ HI TATT B | 319, T8 370 B 3Te foig ¥ a1 g3
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(1) .3
Km

(2) .4
Km

(3) .5



919151 BANK 2023

3 .Jay starts from his house and walks 40 m north and reaches his school.
There he turns right and walks 30 m and then he turns right and walks 65
m and reaches a garden. Here he turns left and walks 8 m. He again walks
25m towards his left. Then he turns 90° anti-clock wise and walks 8 m. How

far is jay from his school?

ST 30 TR Y I YR DRl g 3R 40 HIeX IR D1 3R IAdl g 3R
3 T d Ugddl ¢ | 981 98 Tt a1 8 3iR 30 HIex Iddl & 3R [hr a8
G4 {318 3R 65 HIeR Iaidl g 3R U §iid H Ugdadi ¢ | Igi 98 a1u

=18 3R 8 HieX IadT 2 1 98 b T (U 910 3R 25 Hicx Iadl g

aaa%‘ﬁﬁuﬁmoogsm%sﬁwrﬂaaw%lw&mﬁwﬁ
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(1) 70 m
(2) 45 m
(3) 30 m
(4) 50 m
(E) None of these
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4.1f south-east becomes north, north-east becomes west
and so on. What will west become?

gl Gf&UT-gd IR 81 oTdl §, d 3TR-Ud UigH & a1 § 3R
3 TRE | UTEH TG
(1) North —east

(2) North — west

(3) South — east

(4) South —west

(5) None of these
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5. Rahul put his timepiece on the table in such a way that
at 6 P.M. Hour hand points to north. In which direction the
mmute hand will pomt at 9.15p.M. ?

- 3O ggl B <Td TR $H IRE T fdh JTH 6 o |
51 g3 TR B 3R SURT BT 81 3 9.15 Tl e B
ﬁé?o—a fa= O SRIRTHRA | 2

(1) South — east

(2) South
(3) North

(4) West
(5)None of these
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6.A man Is facing north-west. He turns 90 DEGREE in the

clockwise direction, then 180 DEGREE In the anticlockwise
direction and then another 90 DEGREE In the same
dlrectlon Which direction is he facm%now?

6. Uoh Afdd BT JW IR-UIH B! 3R 8 | dg 90 feUli afeumad
fa=m A ggar g, fhx 180 &3l ammad fazm o $iR fihr 90 f&iht
U R A gEaT 2| ofd 98 by =T 3} 3k ITRa 27

(1) SOUTH
(2) SOUTH ~WEST
(3) SOUTH — EAST
(4) EAST

(5) NONE OF THESE
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/7.0ne morning after sunrise, Suresh was standing
facing a pole. The shadow of the pole fell exactly to
his right. To which direction was he facing?

7.7 {quﬁq‘i?q b FTC YR UD T DI 3R 7§ b
TSI UT| G ol BT Sich 3D Glig-l R US| I
T fors famm et iR Ut

(1) EAST

(2) WEST

(3) SOUTH

(4) DATA INADEQUATE

(5) NONE OF THESE
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8.Early morning after sunrise, Karthik was standing infront of his
house in such a way that his shadow was falling exactly behind
him. He starts walking straight and walks 5 metre. He turns to
his left and walks 3 metre and again turning to his left walks 2
metre. Now in which direction is he from his starting point?
8.9 qUIad & d1¢ Plfdd 3T+ TR o Y- 39 aig Wal Ul fdb
3D RS foehd 3D Uled US 51 81 g I IeiT R= DRl
g 3R 5 Hiex Iadl g | 98 I 3R Gl g 3R 3 Hiex Iadi g 3R
TR T 3R GS b 2 Hick Iaidl g | 39 a8 U RN foig o
fra fe=md g2

(1) WEST

(2) NORTH-WEST

(3) EAST

(4) SOUTH-WEST

(5) NONE OF THESE
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9 In this question, four statements are given followed by two conclusions. Based on the
statement and their conclusions, five options are given. Mark your option which logically
definitely follows.

0 39 U H IR Byl o gTq & Fsep sl QU U 81 T 3R I7eb freptif &b STyR qR T faebed
QU TE g | 30 fashed & fafgd &< Sl difches &0 ¥ a0 T SR HRaT g |
Statement:hY-:

N is to the north-west of O /N, O . P ITR- U@ﬂﬁ%

M is to the north of N/ M, N . %B?Rfr%
L is to the south-westof P/ L, P. %E‘F&FUT U@ﬂ:{ﬁ%
O istothe westof P/ O, P . %q@ﬂﬁ%

Conclusion:f s

(1) M is to the north-west of P /M, P . & SR-UEHET T
(Il) L is to the south-east of N/ L, N . & GI&{UT- Qﬁﬁ%
1. Only | follow

2. None follows

3. Both | and Il follows

4. Only Il follows

5. None of these
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10.In this question, four statements are given followed by two conclusions. Based on the
statement and their conclusions, five options are given. Mark your option which logically
definitely follows.

10.39 Y% H, TR YUl & d1e < Fsh s AT U § | o 3R 37 (e & STyR )R Ul
Rea TR o fiwed 3! Riftd B3 o aifhe U ¥ AT S0 Y SFHR0 1 2|
Statement: ®Y-:

T is to the north-west of P/ T, P . & STR-USH H

K'is to the east of P/ K, P . %@ﬁ%

M is to the south-east of K/ M, K . & Gf&Ul- tjﬁf[%

Jistothe eastof M /J, M . %ujfr%.

Conclusion:

() P is to the north-west of J/P, J . % STR-UBA TR

(1) J is to the south-east of T/J, T . & G&fUI- qﬁﬁ%

1. Only II follow

2. None follows

3. Only | follow

4. Both | and Il follows

5. None of these
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